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AVAT-registered distributor buys a product from a manufacturer and sells tto a VAT-registered retailer for
265 plus VAT of £13. A member of the public buys the product from the retailer for £90 inclusive of VAT of

215,

() Which of the following statements is TRUE? Choose ONE option.

“The retailer bears a net cost of £2 VAT because thatis the difference between its output and input tax

onthe product

‘The distributor and the retailer do not bear any of the cost of VAT. The member of the public bears

the full cost of £15 VAT.

‘The distributor bears a cost of £13 VAT because it has to pay £13 output tax on the productto HURC.

The retailer bears a cost of £15 VAT because ithas to pay £15 outputtax on the product o HIMRC.

AVAT-registered retailer needs advice on keeping VAT records for VAT inspections.

(b) Identify whether the following records must be kept for inspection.

Records of employes enteriainment on which VAT has been
reclaimed

this must

“Trading terms and conditions issued by suppliers with their
invoices
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CBA Practice model answers

Indirect Tax

FA2012 – practice 1

Task 1.1
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Task 1.2
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SUBRPFATAEHY 55 Questions Task 1.1 .

(a) Complete the following statement by choosing ONE option.

SceneMark _ |100%

AVAT-registered business is cancelling a credit note which it previously issued to  customer n relation to
taxable supplies. The effect ofthis cancellation is that the business's...

inputtax will decrease.

inputtax willincrease.

outputtax will decrease.

(b) Which THREE items of information must always appear on a full VAT invoice?
Drag the correct options into the drop zone.

[ Customer purchase orger number | Information that must always appear on a full
VAT invoice:
Description of the goods/senvices supplied
‘Supplier telephone number
‘Supplier VAT registration number
Rate of any cash discount offered
‘Customer telephone number
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Task 1.2 continued
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‘Time Remaining: 00:55:59

‘Description of the goods/senices supplied

= E!!

1

‘Customer telephone number

‘Customer purchase order number

Information that must always appear on a full
VAT invoice:

‘Supplier VAT registration number

Rate of any cash discount offered

‘Supplier telephone number

Asequence of events has taken place in a VAT-registered business as follows:

1. Itissues a pro-forma invoice on 16 November
2.The customer collects the goods on 21 November

3. The customer pays the pro-forma invoice on 22 November

4.1tissues a VAT invoice on 24 November

(c) Whats the tax point of this supply? Choose ONE option.

16 November

21 November

22 November

24 November
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Task 1.3
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(a) Which of the following statements about the annual accounting scheme is TRUE? Choose ONE option.

VAT for the year is paid n a number of interim payments with a balancing payment due two monts
afterthe year end.

Abusiness can remain in the annual accounting scheme fts VAT taxable tumover for the nexttax year s not
expectedio exceed..

e[1e00000 ol

2 B Page

(€) When willa business be issued with a default liabily notice by HMRC? Choose ONE option. Iagedte True
PageMark 100%

& Scene

CurrentSce| Main Scene
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Only when it subrmits a VAT return le. SceneMark{100%

Only when it makes late payment of VAT due.

Both when it makes Iate payment of VAT due and when it submits 3 VAT retum Iate.
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Task 1.4
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Abusiness needs to separately report an error on a previous VAT retum to HIRC.
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Task 1.4 continued
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(b) Whatis the effect of this on the amount of VAT payable to HMRC? Choose ONE option.

Itis reduced because output taxis reduced

Itis reduced because input taxis increased

Itis increased because inputtax s increased

Itis increased because outputtax s increased
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CurentSce Main Scene
(e) Identity whether the following statement is TRUE or FALSE. Esceneatt True
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“The business may submit a leter reporting the error to HMRC.
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Task 1.5
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(a) Whatis the correct amount of VAT to be shown on the invoice? Choose ONE option.

e

£100.25

£207.22

Abusiness has completed its VAT retum, which shows an amount due to HIRC of £5,187.00.

‘The VAT account at the end of the same period correctly shows a liabilty of £4,278.00.

{b) Which of the following explains the difference? Choose ONE option.

‘The VAT refund of £909.00 for the previous VAT period was included in the figure
for outputtax on this VAT retum

‘The VAT payment of £909.00 for the previous VAT period was included in the figure
for inputtax on this VAT retum.

Abusiness intends to supply standard-rated goods to 3 customer at a VAT-inclusive price of £387.92.

(€) How much VAT s included in the price, correct to TWO decimal places?

£ [6465






Task 2.1

[image: image8.png]You are told that purchases returs for £3,125.00 plus VAT of £625 have been accidentally omitted from the
purchases retums day-book in the period.

(a) Calculate the figure for Box 1 of the VAT return — VAT due on sales and other outputs.

£ 57535)

(b) Calculate the figure for Box 4 of the VAT return — VAT reclaimed on purchases and other inputs,
including acquisitions from the EC.

£ 14233]

(c) Calculate the figure for Box 7 of the VAT return — total value of purchases and all other inputs,
excluding any VAT.

£ 208687]





Task 2.2
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Task 2.3
[image: image10.png]Draft an email to the financial accountant advising him of the amount of VAT that will be paid or received

and the date due.

To: [Financial Accountant |+ ]
From  [accounting Technician [l
Date: |21 April -

Subject  Completed VAT Return

Please be advised that | have completed the online VAT Return for the period ended

e amounto VAT [parane ] witse £

[106756.60

Please amange.

[31 March. |+ ]

oSO S e ARG e s o e vy er iy Il

Kind regards

Accounting Technician





Rounding – Boxes 6-9





This model answer shows the figures in boxes 6-9 rounded down, however figures rounded up are equally valid for the purposes of this assessment.
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